PROJECT NAME: STATE ROUTE 8 CONCRETE PAVEMENT REPAIRS

RES NO.

**BID OPENING DATE: FRIDAY, SEPTEMBER 20, 2013** 

					ENGINEERS E	ENGINEERS ESTIMATE PERK COMPANY, INC.			KARVO PAVING COMPANY					
						8100 Grand Avenue, Suite 300				4524 Hudson Drive				
						Cleveland, Ohio 44104-3110				Stow, Ohio 44224				
							(216) 391-1444-Office • (216) 391-2233-Fax			(330) 929-9616-Office ● (330) 929-9620-Fax				
ITEM	REF	ITEM	ITEM											
NO.	NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	TOTAL	LABOR	MATERIAL	UNIT PRICE	TOTAL	LABOR	MATERIAL	UNIT PRICE	TOTAL
1	255	Full Depth Pavement Removal and Replacement	151.00	SY	\$200.00	\$30,200.00	\$220.00	\$70.00	\$290.00	\$43,790.00	\$157.00	\$106.00	\$263.00	\$39,713.00
2	255	Full and Partial Depth Saw Cutting	342.00	LF	\$2.00	\$684.00	\$3.00	\$0.50	\$3.50	\$1,197.00	\$1.75	\$1.25	\$3.00	\$1,026.00
3	614	Maintenance of Traffic	1.00	LS	\$10,000.00	\$10,000.00	\$900.00	\$100.00	\$1,000.00	\$1,000.00	\$4,000.00	\$3,000.00	\$7,000.00	\$7,000.00
4	624	Mobilization	1.00	LS	\$10,000.00	\$10,000.00	\$990.00	\$10.00	\$1,000.00	\$1,000.00	\$7,500.00	\$7,500.00	\$15,000.00	\$15,000.00
TOTAL	TOTAL CONTRACT PRICE					\$50,884.00				\$46,987.00				\$62,739.00
CONTR	CONTRACTORS BID									\$46,987.00				\$62,739.00
DIFFERENCE					\$50,884.00 \$0.00				\$0.00	00 \$0.00				

PROJECT NAME: STATE ROUTE 8 CONCRETE PAVEMENT REPAIRS

RES NO.

**BID OPENING DATE: FRIDAY, SEPTEMBER 20, 2013** 

					LIBERTA CONSTRUCTION (CIOFFI)  1001 Eastwood Aveue  Akron, Ohio 44305				
ITEM	REF	ITEM	ITEM		(330) 794-9448-Office ● (330) 794-2858-Fax				
NO.	NO.	DESCRIPTION	QTY	UNIT	LABOR	MATERIAL	UNIT PRICE	TOTAL	
1	255	Full Depth Pavement Removal and Replacement	151.00	SY	\$236.00	\$103.00	\$339.00	\$51,189.00	
2	255	Full and Partial Depth Saw Cutting	342.00	LF	\$8.00	\$0.00	\$8.00	\$2,736.00	
3	614	Maintenance of Traffic	1.00	LS	\$18,000.00	\$0.00	\$18,000.00	\$18,000.00	
4	624	Mobilization	1.00	LS	\$16,200.00	\$0.00	\$16,200.00	\$16,200.00	
TOTAL (	ONTRA	CT PRICE	•				\$88,125.00		
CONTRA	CTORS	BID	·		-		\$88,125.00		
	ICE						¢0.00		

DIFFERENCE \$0.00



PROJECT NAME: STATE ROUTE 8 CONCRETE PAVEMENT REPAIRS

RES NO.

BID OPENING DATE: FRIDAY, SEPTEMBER 20, 2013

	ALTERNATE BID				ENGINEERS	PERK COMPANY, INC. 8100 Grand Avenue, Suite 300				KARVO PAVING COMPANY 4524 Hudson Drive				
						Cleveland, Ohio 44104-3110				Stow, Ohio 44224				
1750.4			1750				(216) 391-1444-Office ● (216) 391-2233-Fax				(330) 929-9616-Office ● (330) 929-9620-Fax			
ITEM			ITEM											
NO.	NO	DESCRIPTION	QTY	UNIT	UNIT PRICE	TOTAL	LABOR	MATERIAL	UNIT PRICE	TOTAL	LABOR	MATERIAL	UNIT PRICE	TOTAL
ALT1	25	Partial Depth Pavement Repair	36.00	SY	\$90.00	\$3,240.00	\$220.00	\$70.00	\$290.00	\$10,440.00	\$210.00	\$210.00	\$420.00	\$15,120.00
ALT2	25.	Full Depth Pavement Removal and Replacement	84.00	SY	\$230.00	\$19,320.00	\$260.00	\$30.00	\$290.00	\$24,360.00	\$175.00	\$88.00	\$263.00	\$22,092.00
ALT3	25.	Full and Partial Depth Saw Cutting	434.00	LF	\$3.50	\$1,519.00	\$3.00	\$0.50	\$3.50	\$1,519.00	\$1.50	\$1.50	\$3.00	\$1,302.00
TOTAL	TOTAL CONTRACT PRICE					\$24,079.00				\$34,800.00				\$37,212.00

CONTRACTORS BID

DIFFERENCE \$24,079.00 \$34,800.00 \$37,212.00

PROJECT NAME: STATE ROUTE 8 CONCRETE PAVEMENT REPAIRS

RES NO.

**BID OPENING DATE: FRIDAY, SEPTEMBER 20, 2013** 

	ALTERNATE BID				LIBERTA CONSTRUCTION (CIOFFI)  1001 Eastwood Aveue				
					Akron, Ohio 44305 (330) 794-9448-Office ● (330) 794-2858-Fax				
ITEM	REF	ITEM	ITEM						
NO.	NO.	DESCRIPTION	QTY	UNIT	LABOR	MATERIAL	UNIT PRICE	TOTAL	
ALT1	251	Partial Depth Pavement Repair	36.00	SY	\$433.00	\$144.50	\$577.50	\$20,790.00	
ALT2	255	Full Depth Pavement Removal and Replacement	84.00	SY	\$192.55	\$102.75	\$295.30	\$24,805.20	
ALT3	255	Full and Partial Depth Saw Cutting	434.00	LF	\$8.00	\$0.00	\$8.00	\$3,472.00	
			-						
TOTAL (	CONTRA	CT PRICE						\$45,595.20	

CONTRACTORS BID

DIFFERENCE \$45,595.20

